J225 +1600

‘= 42.72
Base area + Curved surface area

= 1% + 71/

= 7r({+r)

= 7 x15(57.72)
= 7 x15(57.72)
. =2718.16 cm?




~=:r><5x5 257 sq CHNEC I ;

i)t he'th =122+ 57 = J144+25 169 |

g -13cm
' suﬁace area = rr/
11..' = 7zxHx13

-“fﬁ- =657sg. cm

suﬁace area =257+657 =907

" Paper needed for one fire work =907z sg.cm

mPaber needed for 10000 fire work = 90~ % 1000
9. square metre = 100 x 100 square centimetre

Y ]
..

SR _90x3.14><10000
:_.Isurfacearea = 02100

= 282.6 sqm

| .Tetal cost =282.6x2
= 565.2 rupees



	MATHEMATICS STD 10 Class 87 Victers online class Assignment answers for 28.12.2020 (A).pdf (p.1)
	MALAYALAM Adisthana Padavali STD 10 Class 26 Victers online class Assignment answer for 28.12.2020 (AB).pdf (p.2)

